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Past Modals

Modals sometimes have different past forms according to the meaning.
1
Had to

When must expresses obligation, the past form is had to and the negative didn’t have to.

When I was a child, I had to/didn’t have to go to bed at 7 p.m.

2
Could

The past of can is could or was able to.

She could/was able to tie her shoes when she was only four years old.

REMEMBER:

Could is only used to express general abilities.

Although she was ill, she could still work. (= general ability)
If we wanted to express the idea that the person actually did the action, we

can only use was able to.

Although she was ill, she was able to work. (= she actually did this)
The verb manage to is often used to express this idea, too. 

Although she was ill, she still managed to work.
3
Must have, might (not) have, may (not) have, could have, can’t have

All these modals of probability have equivalent past forms (modal + have + past participle).
You must have been worried when you heard about the fire.
She didn’t answer the phone; she must have been busy. 
4
Should have and ought to have

The past of should is should have + past participle.

You should have studied harder for the exam.

The past of ought to is ought to have + past participle.

He ought to have brought a coat; it’s cold outside.
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